a)
b)
c)
d)

. What does BOD in the water mean?

Amount of oxygen in the water that can be degraded by microorganism
Amount of organic material that can be degraded by microorganism
Amount of oxygen that we have to provide for growing microorganism
Amount of oxidant that is consumed in an incubator

. Environmental Impact Assessment is the process of

a)
b)
c)
d)

predicting the type and likely effect on the environment of a certain project
assessing how big the impact of the environment is on a particular project
assessing the magnitude of a natural disaster on the environment
predicting the impact of the environment on a new project

. Keystone species are

a)
b)
c)
d)

species that play a disproportionally large role in maintaining a healthy ecosystem
species that are one of the foundations of special ecosystems

species that are part of a special ecosystem

species that are fossilised

. Eutrophication is caused primarily due to enrichments of the following nutrients

a)
b)
c)
d)

Ca and Mg
Sand K
CuandZn
N and P

. Which of the following is non-renewable energy source?

a)
b)
c)
d)

Hydroelectric
Wind turbine
Solar panel

Coal power plant



